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Math 54, Summer 2009, Lecture 4
Quiz 1

(1) Find the general solution of the following system of linear equations, or show that it is.

inconsistent.
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(2) Say atement is true or false. If it is true, justify it. If it is false,
provide a counterexample showing that it is false. “A linear system of 2 equations and 3
variables is always consistent.”
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(38) Give all values of h for which the following system has exactly one solution, for which it
has no solutions, and for which it has many solutions.
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